



namn: \_\_\_\_\_

Datum: \_\_\_\_\_ Poäng: \_\_\_\_\_

$$\frac{1}{3} - \frac{3}{2} \left( \frac{3}{2} - \frac{2}{3} \right) =$$

$$\frac{1}{3} - \frac{1}{2} \left( \frac{2}{5} + \frac{2}{3} \right) =$$

$$\left( \frac{3}{5} - \frac{1}{3} \right) \times \frac{3}{2} + \frac{1}{2} =$$

$$\left( \frac{2}{3} - \frac{3}{5} \right) \times \frac{2}{3} - \frac{1}{3} =$$

$$60 \left( \frac{1}{3} + \frac{1}{3} \right) \div 10 =$$

$$\left( \frac{1}{3} - \frac{1}{6} \right) \times \frac{3}{2} - \frac{3}{2} =$$

$$\frac{1}{3} - \frac{2}{5} \left( \frac{3}{2} + \frac{2}{5} \right) =$$

$$(88 \div 11 + \frac{1}{5}) \times \frac{2}{5} =$$

$$(14 \div 2 - \frac{2}{3}) \times \frac{1}{2} =$$

$$(12 \div 6 + \frac{1}{4}) \times \frac{1}{4} =$$



namn: \_\_\_\_\_

Datum: \_\_\_\_\_ Poäng: \_\_\_\_\_

$$\frac{1}{3} - \frac{3}{2} \left( \frac{3}{2} - \frac{2}{3} \right) = \left( -\frac{11}{12} \right)$$

$$\frac{1}{3} - \frac{1}{2} \left( \frac{2}{5} + \frac{2}{3} \right) = \left( -\frac{1}{5} \right)$$

$$\left( \frac{3}{5} - \frac{1}{3} \right) \times \frac{3}{2} + \frac{1}{2} = \frac{9}{10}$$

$$\left( \frac{2}{3} - \frac{3}{5} \right) \times \frac{2}{3} - \frac{1}{3} = \left( -\frac{13}{45} \right)$$

$$60 \left( \frac{1}{3} + \frac{1}{3} \right) \div 10 = 4$$

$$\left( \frac{1}{3} - \frac{1}{6} \right) \times \frac{3}{2} - \frac{3}{2} = \left( -\frac{5}{4} \right) = \left( -1\frac{1}{4} \right)$$

$$\frac{1}{3} - \frac{2}{5} \left( \frac{3}{2} + \frac{2}{5} \right) = \left( -\frac{32}{75} \right)$$

$$\left( 88 \div 11 + \frac{1}{5} \right) \times \frac{2}{5} = \frac{82}{25} = 3\frac{7}{25}$$

$$\left( 14 \div 2 - \frac{2}{3} \right) \times \frac{1}{2} = \frac{19}{6} = 3\frac{1}{6}$$

$$\left( 12 \div 6 + \frac{1}{4} \right) \times \frac{1}{4} = \frac{9}{16}$$